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Quiz 2 Report 

9/16/2020 

1. Summary 

 

 

 

 

 

Total number of students 10 

Attended 10 

Missed 0 

Average grade 9.10 

Standard deviation of grades 1.52 
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2. Comments 

 

• Overall, most student get the 𝑉2 in terms of 𝑉1 correctly using continuity and solve 

the problem correctly. 

• One student considered dynamic pressure incorrectly. 

• Some of students made a few mistakes and one student express the answer 

incompletely. 

• Another student couldn’t use the concept of continuity, and didn’t express the 𝑉2 

in terms of 𝑉1. 

 


